

فصل اول آکسی

$$f(u) = \begin{cases} \frac{\sqrt{4u^p + (u+p)u + \frac{u}{p}}}{|pu^p + (u-p)u^p + a^p|} & u \neq a \\ \frac{p \tan b}{\sqrt{-u}} & u = a \end{cases}$$

$$\lim_{u \rightarrow a} \frac{\sqrt{4u^p + 4u + \frac{p}{p}}}{|pu^p + a^p|} = \frac{\sqrt{4(u^p + u + \frac{1}{p})}}{|pu^p + a^p|} = \frac{\sqrt{4} |u + \frac{1}{p}|}{|pu^p + a^p|} \quad (1)$$

a - تفاضل بین (مطلوب) و باید خارج را هم صفر کنند

$$\Delta = 0 \rightarrow (u+p)^p - p(\frac{u}{p}) \times 4 = 0 \rightarrow u^p + pu + 4 - 12 = 0 \rightarrow u^p - 4u + 4 = 0 \rightarrow u = 4$$

$$f(u) = \begin{cases} pu^p + pu + p & u < a \\ \tan u & u = a \\ bu - p & u > a \end{cases}$$

$$u < a \Rightarrow \lim_{u \rightarrow a} f(u) = au^p + pa + p$$

$$u = a \Rightarrow f(a) = \tan a$$

$$u > a \Rightarrow \lim_{u \rightarrow a} f(u) = ba - p$$

$$pa^p + a^p = \dots \rightarrow a^p(p+1) = \dots \rightarrow \begin{cases} a = 0 \rightarrow \frac{\infty}{\infty} \times \\ a = -\frac{1}{p} \rightarrow \frac{\sqrt{4} |u + \frac{1}{p}|}{|pu^p + \frac{1}{p}|} = \frac{\sqrt{4}}{\sqrt{4}} = 1 \end{cases}$$

$$\lim_{u \rightarrow -\frac{1}{p}} \frac{\sqrt{4} |u + \frac{1}{p}|}{p |u^p + \frac{1}{p}|} = \frac{\sqrt{4} |u + \frac{1}{p}|}{p |u^p + \frac{1}{p}|} = \frac{\sqrt{4}}{p} \lim_{u \rightarrow -\frac{1}{p}} \frac{|u + \frac{1}{p}|}{|u^p + \frac{1}{p}|}$$

$$\Rightarrow \tan a = au^p + pa + p$$

$$\tan a = ba - p \quad \tan \frac{\pi}{4} = 1 \Rightarrow \frac{\pi}{4} = a$$

$$\Rightarrow \tan a = ba - p$$

$$\Rightarrow 1 = p - b(\frac{\pi}{4}) \Rightarrow p = (\frac{\pi}{4})b \Rightarrow b = \frac{4p}{\pi}$$

$$\frac{p \tan b}{\sqrt{-(\frac{1}{p})}} = \frac{p \sqrt{4}}{p} \rightarrow \tan b = \frac{\sqrt{4}}{p} \rightarrow b = \frac{\pi}{4}$$

$$\frac{ka}{a} = u \Rightarrow \lim_{u \rightarrow \frac{ka}{a}} f(u) = f(\frac{ka}{a}) \quad (2)$$

$$f(u) = \sin(au) - a + u = \lim_{u \rightarrow \frac{ka}{a}} f(u) = \sin(ka) - a + \frac{ka}{a}$$

$$-a + \frac{ka}{a} = b(\frac{ka}{a}) \Rightarrow \frac{a}{a} = \frac{bka}{a} \Rightarrow b = 1$$

$$a = 1 \Rightarrow \frac{b}{a} = 1 \quad \text{Elipon}$$

Date:

Sub:

$$\begin{cases} 1+a+b=0 \\ a-a+b=0 \end{cases} \rightarrow \begin{matrix} b=-1 \\ a=1 \end{matrix} \rightarrow \left[\frac{-1-1(1)}{1} \right] = \left[\frac{-2}{1} \right] = -2$$

$$ran^r - b + r = 0, \quad \frac{u^r + an + b}{n} = f(n) \quad (1)$$

$$\rightarrow n \cdot r \Rightarrow r a(r) - b + r = 0 \quad b=0$$

$$\Rightarrow 1a - b + r = 0 \Rightarrow 1a - b = -r \quad ! \text{ for } n=0 \text{ not}$$

$$(1) \Rightarrow b=0 \Rightarrow 1a = -r \Rightarrow a = \frac{-r}{1} \Rightarrow \begin{cases} b-a = 0 \\ \frac{r}{1} = \frac{r}{1} \end{cases}$$

$$n < 1 \Rightarrow f(1) = \lim_{n \rightarrow 1} (an^r - n + b) = 1(a^r) - 1 + b = a - b \quad (2)$$

$$a + b - 1 = \text{ten}$$

$$n > r \Rightarrow f(r) = r - b = -1 \Rightarrow \lim_{n \rightarrow r} (an^r - n + b) = \varepsilon a - r + b$$

$$a = r$$

$$b = -\frac{r}{r}$$

$$ab = -\frac{r}{r}$$

$$\Rightarrow r a - r + b = -1$$

$$\Rightarrow f a + b = 1$$

$$| \tan |a| = b a$$

$$f a + b = 1 \Rightarrow -\tan |a| = r a = a = -\frac{\tan |a|}{r}$$

$$\Rightarrow \left(-\frac{\tan |a|}{r} \right) \varepsilon + b = 1 \Rightarrow b = \frac{\tan \varepsilon}{r} + 1 = b$$

$$\Rightarrow b = 1$$

$$a < \cdot = b^r - f a < \cdot$$

$$\Rightarrow f(a) = a(a)^r + b(a) + a + 1 = f(a) = a^r + ab + 1$$

$$= f(a) = a^r + a + 1 \Rightarrow a^r + a + 1$$

$$f(b) = b(b)^r - (b)a \cdot a \Rightarrow f(b) = b^r - ab - a \Rightarrow b^r - ab - a$$

$$b=0 \rightarrow f(b) = -ka \rightarrow \frac{a}{f(b)} = \frac{a}{-ka} = -\frac{1}{r}$$

$$\lim_{n \rightarrow a} f(n) = f(a) \Rightarrow n \neq a \Rightarrow f(n) = mn + na$$

$$\lim_{n \rightarrow a} f(n) = m a^r + na$$

$$n \rightarrow a$$

$$a=0 \Rightarrow n(0) + m'(0) = r$$

$$\Rightarrow r \neq 0$$

$$\lim_{n \rightarrow a} (m a^r + r a) = m a^r + r a \Rightarrow m a^r + r a = r$$

$$a=0 \Rightarrow 0 + 0 \neq r \times$$

$$\leftarrow n-m=r \quad \frac{r a - r}{a^r}$$

$$\Rightarrow m a^r + r a = r = m \Rightarrow \frac{r - r a}{a^r}$$

$$\lim_{n \rightarrow 1} f(n) = f(1) \Rightarrow \lim_{n \rightarrow 1} (n^2 - n + 1) =$$

$$n^2(1) - n(1) + 1 = 1$$

$$\Rightarrow 1 + 1 = 2$$

$$\Rightarrow n+1 = -1 \Rightarrow n = -2 \Rightarrow \lim_{n \rightarrow 1} f(n) = -1 = -1$$

$$n^2 - n + 2 = (n-1)(n-2) \Rightarrow a = 1, 2$$

$$\Rightarrow a = 1 \Rightarrow \lim_{n \rightarrow 1} f(n) = \frac{1}{n-2} = -1$$

$$\Rightarrow a = 2 \Rightarrow \lim_{n \rightarrow 2} f(n) = \frac{1}{n-2} = \infty$$

$$\lim_{n \rightarrow a} f(n) = f(a) \Rightarrow \lim_{n \rightarrow a} (n^2 + a^2 + a)$$

$$\Rightarrow f(a) = a^2 + a + 1$$

$$\Rightarrow a^2 + a = a^2 + a + 1 \Rightarrow a = 1$$

$$\Rightarrow a = \frac{1 \pm \sqrt{5}}{2}$$

$$\Rightarrow a = 1$$

$$f(n) = a[n] + a + b[n] + b[a] + b$$

$$n \rightarrow + : a[0^+] + a + b[0^+] + b[a] + b = a + b[a] + b$$

$$n \rightarrow - : a[0^-] + a + b[0^-] + b[a] + b = b[a]$$

$$a + b[a] + b = b[a] \rightarrow a = -b$$

$$\rightarrow \frac{a[a]}{f(a)} = \frac{a[a]}{b[a]} = \frac{a}{b} = \frac{-b}{b} = -1$$

الف

سوال ۶

$$f(2a) = 0 \rightarrow 2 = 2a \rightarrow \text{ریشه صفر است}$$

$$2 = a \rightarrow \text{ریشه صفر است} + \text{ریشه خارج}$$

$$f(x) = \frac{(x-a)(x-2a)}{-(x-a)} = -(x-2a) \rightarrow f(x) = \begin{cases} -(x-2a) & x \neq a \\ 2 & x = a \end{cases}$$

$$f(a) = -(a-2a) = 2 \rightarrow a = 2$$

$$f(x) = \frac{(x-a)(x-2a)}{-(x-a)} = \frac{(x-2)(x-4)}{-(x-2)} = \frac{x^2 - 4x + 8}{-(x-2)} = \frac{x^2 + mx + n}{-(x-2)}$$

$$m = -4, n = 8 \rightarrow n - m = 8 - (-4) = 12$$

$$\text{حد راست} = (1-a)[Z^+] + (2a^r - 1)[-Z^+] = (1-a)Z + (2a^r - 1)(-Z - 1) \quad (I)$$

$$\text{حد چپ} = (1-a)[Z^-] + (2a^r - 1)[-Z^-] = (1-a)(Z - 1) + (2a^r - 1)(-Z) \quad (II)$$

$$I, II \rightarrow \lim_{x \rightarrow Z^+} f(x) = \lim_{x \rightarrow Z^-} f(x) \rightarrow -1 + a = -2a^r + 1 \rightarrow 2a^r + a - 2 = 0 \rightarrow \begin{cases} a = -1 \times \\ a = \frac{r}{r} \end{cases}$$

$$a = \frac{r}{r} \rightarrow b \sin\left(\frac{\pi}{\frac{r}{r}}\right) = -b \rightarrow -b = -\frac{1}{r} \rightarrow b = \frac{1}{r} \quad \frac{a}{b} = \frac{\frac{r}{r}}{\frac{1}{r}} = r$$

سوال ۷

$$\lim_{n \rightarrow \frac{1}{m}} \frac{|(n-1)(n+m+1)|}{|(n-1)(n+1)| + |n-1|} = \frac{|n-1| |n+m+1|}{|n-1| (m|n+1| + 1)} = \frac{|m+2|}{r_{m+1}} = \frac{m}{m+2}$$

سوال ۸

$$m \geq -2 \rightarrow m^r + fm + f = r_m^r + m \rightarrow m^r - r_m - f = 0 \rightarrow \begin{cases} m = -1 \\ m = f \end{cases}$$

$$m = f \rightarrow \frac{|2a^r + f_n - \omega|}{f|n-1||n+1| + |n-1|} = \frac{|n-1||n+\omega|}{|n-1|(f|n+1| + 1)} \rightarrow \lim_{n \rightarrow \frac{1}{f}} \frac{\omega + \frac{1}{f}}{f \times \frac{1}{f} + 1} = \frac{\frac{r}{f}}{2} = \frac{r}{2}$$

$$m = -1 \rightarrow \frac{|n^r - n|}{-|n-1||n+1| + |n-1|} = \frac{|n||n-1|}{|n-1|(-|n+1| + 1)} \quad X$$

$$2 = a \rightarrow \text{ریشه صفر است} + \text{ریشه خارج}$$

سوال ۹

$$a^r + a = 0 \rightarrow a(a+1) = 0 \rightarrow \begin{cases} a = 0 \times \\ a = -1 \checkmark \end{cases}$$

$$a^r + a(m-r) + a^r = 0 \xrightarrow{a=-1} -1 - m + r + 1 = 0 \rightarrow m = r$$

$$\lim_{x \rightarrow -1} \frac{\sqrt{r}|-x-1|}{|x^r+1|} = \frac{\sqrt{r}|-(x+1)|}{|(x+1)(x^r-x+1)|} = \frac{\sqrt{r}}{r}$$

مسئلہ ۱۰

$$\lim_{x \rightarrow 0^+} \frac{x^r + |x|}{x^r + a|x|} = \frac{0}{0} \rightarrow \lim_{x \rightarrow 0^+} \frac{x^r + x}{x^r + ax} = \lim_{x \rightarrow 0^+} \frac{x(x+1)}{x(a+x)} = \frac{1}{a}$$

$$\lim_{x \rightarrow 0^-} \frac{x^r + |x|}{x^r + a|x|} = \frac{0}{0} \rightarrow \lim_{x \rightarrow 0^-} \frac{x^r - x}{x^r - ax} = \lim_{x \rightarrow 0^-} \frac{x(x-1)}{x(x-a)} = \frac{-1}{-a} = \frac{1}{a}$$

$$f(0) = \frac{r a - 1}{r a + r} = \frac{1}{a} \rightarrow r a^r - a = r a + r \rightarrow r a^r - r a - r = 0 \rightarrow \begin{cases} a = r \\ a = \frac{1}{r} \end{cases} \times$$

$$a = r \rightarrow \lim_{x \rightarrow \frac{1}{r}} f(x) = \lim_{x \rightarrow \frac{1}{r}} \frac{x^r + x}{x^r + r x} = \frac{\frac{1}{r^r} + \frac{1}{r}}{\frac{1}{r^r} + 1} = \frac{\frac{r}{r^r}}{\frac{r}{r^r} + 1} = \frac{r}{r^r + 1}$$